BiEx U—10 2026 &)IIR2 =Pty —)— T GIRitE ) — O (PEaERIX)
4A6H(H)

U—10(E) U—10(G)

HERE FIHMZEHT SR (C) FIHE BT TR (D)

SIBUE (FED /SR TIL FR)  EBEE % ¥ |(4FE DREAM (%) H&FC = #
109:30~| /SXFJ)L 8 vs 0 MR [2—<5 6 ABHE 3 vs 0 ZHFEFFC| DREAM
2 10:30~ [3—<3>k 3 ws O &M INATIL IRKR 4 vs 0 DREAM | ZEFEFFC
3 11:30~| #HkE 5 wvs 0 SUNRISE| #XR EBFFC 0 vs 9 EBEFHI| LEHM
4 12:30~| /SRFIL 2 vs 0 L #&m ABFC 0 vs 1 HEEHm E |
5 13:30~ AR 0 vs 13 a—<35 K #H FEM 4 vs 0 IRR AEFC
6 14:30~ & 3 vs 4 #itkE |SUNRISE| DREAM 0 vs 8 ZEFEFHEE| IAR
7 15:30~ LA 2 vs 3 SUNRISE| EFikt= M 0 vs 0 HEFC |[ZBFEH
8 vs vs

KILUR)—ToFETo5EE & [RE| AZ%F—LTHBEO L. HERTENORDHAEETET S, (10~155 X 1K)

4868 (RH)
U—10(0) U—10(0)
AAREG
RIGHE |(FED (F1&) E #|(FED (F#) = #
1 09:00~ vs vs
2 10:00~ Vs Vs
3 11:00~ vs vs
4 12:00~ vs vs
5 13:00~ vs vs
6 14:00~ vs vs
7 15:00~ vs vs
8 16:00~ Vs vs
KILUR)—vFE 15 a . RE AF%F—LTHBEO L. BAERTRLIORDHAEETET H. (10~155 X 1K)

4A6R(R)
U—10(0) U—10(0)
AER5
RIHHE (D (F#&) E ¥ (D (F&) = #
1 09:00~ vs vs
2 10:00~ vs vs
3 11:00~ Vs Vs
4 12:00~ Vs vs
5 13:00~ vs vs
6 14:00~ vs vs
7 15:00~ VS vsS
8 16:00~ vs vs
KILUR)—vFE T35 A1 RE SZF—LTHBEOL . AERTRMORDHABETET 5. (10~1553 X 1K)




BEX U—10

20256 &/I|fRa2 = P —)— T FIRIE ) — O (P EHX)

48138(8)
U—10(F) Uu—10(0O)
HERIG EEEI IR (B)
SBLE (5D (F#%) Rl I (€S- 1)) = ¥
1 09:00~ | ANIMO vs 0 FIFE t=ED
2 10:00~ | f=&2 vs 0 NSP gRil
3 11:00~ | &I vs 10 BRIl NSP
4 12:00~ [ ANIMO vs 0  t=&D FIFE
5 13:00~ | NSP vs 3 BRIl ANIMO
6 14:00~ vs
7 15:00~ vs
8 16:00~ vs vs
KILUR)—TuFEITHo5EE &, [RE| AR F—LTHBEOL. HERTEIORDHAEETET S, (10~155 X 1K)
48138 (H)
Uu—10(0O) Uu—10(0O)
HERIS
RIBUE (58D (F#) S (€ 1)) = ¥
1 09:00~ vs
2 10:00~ vs
3 11:00~ vs
4 12:00~ vs
5 13:00~ vs
6 14:00~ vs
7 15:00~ vs
8 16:00~ vs vs
KILUR)—TvFEITH>5HE &, [RE Az F—LTHBEO L. RERTEIORDHAEETET S, (10~157 X 1K)
48138 (8)
Uu—10(0O) Uu—10(0O)
HERIS
e S (G an)) (F#) B ¥ |(FED = ¥
1 09:00~ vs
2 10:00~ vs
3 11:00~ vs
4 12:00~ vs
5 13:00~ vs
6 14:00~ vs
7 15:00~ vs
8 16:00~ vs

KILUR)—vFE T35 A1 RE SZF—LTHBEOL . AERTRMORDHABETET 5. (10~1553 X 1K)




BEX U—10

20256 &/I|fRa2 = P —)— T FIRIE ) — O (P EHX)

48208 (8)
U—10(F) Uu—10(0O)

HERE ZERERBIT IR (B)

SELE [(FaD  RHE FR hBEE | B W ((FED (F#) = ¥
1 .09:00~| ANIMO 9 wvs 0 R 8R1L vs

2 10:00~ gRil 6 vs 0 HBHE | ANMO vs

3 11:00~ W 4 vs 0 FIAE | ABEBEER vs

4 12:00~ | ANIMO 5 vs 0 HEBHE R vs

5 13:00~ vs vs

6 14:00~ vs vs

7 15:00~ vs vs

8 16:00~ vs vs

KILUR)—vFE T35 A 1, RE 4ZF—LTHBEO L . AERTRMORDHABETET 5. (10~15573 X 1K)

48208 (H) —E R EF AR
U—10(G) U—10(G)

HERIS TBINTSURB) THRNTSUR(C)

RBYUE ((Fi) EEFERB FHR IXR g ¥ ((FED ABEE (FR) = ¥
1 09:00~ [Z&EF®RE 3 vs 0 ABFC [ EZEEFFC| DREAM 0 vs 5 A&BHEHE EE |
2 10:00~ FEfH 5 vs 0 ZBEFFC |EEFHE vs
3 11:00~ vs REBFC 4 vs 0 IRKR AEWE
4 12:00~ | DREAM 0 vs 3 B HEBFC [ ABEE 0 vs 0 BJEFHRH| IR
513:00~| ITRK 4 vs 2 FEEFFC| DREAM vs
6 14:00~ vs vs
7 15:00~ vs vs
8 16:00~ vs vs

KILUKN)—ToFZi1ima &, [RE, A% F—LTHEO L. HERTEIORDHEESETET S, (10~155 X 1K)

4A208 (H)
U—10(0) U—10(0)

AER5

RIHHE (D (F#&) E ¥ (D (F&) = #
1 09:00~ vs vs

2 10:00~ vs vs

3 11:00~ vs vs

4 12:00~ Vs vs

5 13:00~ vs vs

6 14:00~ vs vs

7 15:00~ VS vsS

8 16:00~ vS vs

KILUR)—vFE T35 A1 RE SZF—LTHBEOL . AERTRMORDHABETET 5. (10~1553 X 1K)




gEx U—10 20256 &/I|fRa2 = P —)— T FIRIE ) — O (P EHX)
5868 ()
U—10(F) Uu—10(0O)
HERB IS hH LRI SR
RGEE (FED  RE FR E ¥ (4D (F#) = #
1. 09:00~| NSP 1 vs 1 W t=ED vs
2 10:00~| =2 1 vs 5 BRI NSP vs
3 11:00~| NSP 5 vs 1 HBHE Rl vs
4 12:00~| fz£E2 2 vs 2 5 HEBWE vs
5 13:00~ vs vs
6 14:00~ vs vs
7 15:00~ vs vs
8 16:00~ vs vs
KILUR—ZoF &M EHAa L RE| A% F—LTHEBEO L. AR TERIALRDHASETET S, (10~1553 X 1K)
5A6H (X)
Uu—10(0) u—10(0)
HERIS
RGHE (D (F#) g ¥ |(FED (F#&) = ¥
1 09:00~ vs vs
2 10:00~ vs vs
3 11:00~ vs vs
4 12:00~ vs vs
5 13:00~ vs vs
6 14:00~ vs vs
7 15:00~ vs vs
8 16:00~ vs vs
XILUR)—TyFET5E1E. RE, BEZF—LTHEDO L. RERTEISRODFEEGETET S, (10~159 X 1K)
5A68 (X)
U—10(0O) U—10(0)
HERB
RIGUE |(FFD (F#) g H (4D (F#%) = #
1 09:00~ vs vs
2 10:00~ vs vs
3 11:00~ vs vs
4 12:00~ vs vs
5 13:00~ vs vs
6 14:00~ vs vs
7 15:00~ vs vs
8 16:00~ vs vs

KILUR)—vFE T35 A1 RE SZF—LTHBEOL . AERTRMORDHABETET 5. (10~1553 X 1K)




BEX U—10

20256 &/I|fRa2 = P —)— T FIRIE ) — O (P EHX)

5A118(R)
U—10(E) Uu—10(0O)
HERIG FI#Z BT SR (C)
£IBUE (4FE) SUNRISE (F#) BXR I (€S- 1)) (F#) = ¥
1 09:30~ | SUNRISE vs IRRTIL &R vs
2 10:30~ & vs %3 | SUNRISE vs
3 11:30~ |3—<5 k vs x| RZRTFTL vs
4 12:30~ AR vs SUNRISE|  #3k vs
5 13:30~ | /SRTIL vs & R vs
6 14:30~ L8 vs a—3IU6 BR vs
7 15:30~ | #LHE vs MR |3—<3vh vs
8 vs vs
KILUR)—TuFEITHo5EE &, [RE| AR F—LTHBEOL. HERTEIORDHAEETET S, (10~155 X 1K)
58118 (H) — ER R
U—10(G) U—10(G)
HERIS TBINTSURB) THRNTSUR(C)
RELE ((FaD  HE R ABEE | & ¥ ((FiD E&EFFC (FR) = ¥
1 09:00~ B vs EBFHRE| AEHE | DREAM vs EEFFC| AEFC
2 10:00~ | M EBYHm vs IR DREAM
3 11:00~ AE&FC vs DREAM #£fE
4 12:00~ | IRKR vs EBFRE| ERFFC vs
5 13:00~ M vs HEEE | TRKR | FEFFC vs HEEFC |ERFHE
6 14:00~ vs vs
7 15:00~ vs vs
8 16:00~ vs vs

XILUKR)—YFEITS

BEIE. AL HEF—LTHEDO L. AR TRALRDAEGETET D, (10~157 X 1K)

5A11B(H)
U—10(0) U—10(0)

AER5

RIHHE (D (F#&) E ¥ (D (F&) = #
1 09:00~ vs vs

2 10:00~ vs vs

3 11:00~ vs vs

4 12:00~ Vs vs

5 13:00~ vs vs

6 14:00~ vs vs

7 15:00~ VS vsS

8 16:00~ vS vs

KILUR)—vFE T35 A1 RE SZF—LTHBEOL . AERTRMORDHABETET 5. (10~1553 X 1K)




BiEx U—10 2025 B/IIRZ 2= F w1/~ GIEIE — O (PREX)
5A18H (R)

U—10(0) Uu—10(0)
AER5
RIBYUE (D (F#) E ¥ (D (F&) = #
1 09:00~ vs vs
2 10:00~ vs vs
3 11:00~ vs vs
4 12:00~ vs vs
5 13:00~ vs vs
6 14:00~ vs ys
7 15:00~ vs vs
8 16:00~ vs vs
KILUR—ZoF &M EHAa L RE| A% F—LTHEBEO L. AR TERIALRDHASETET S, (10~1553 X 1K)

5A188(H)
U—10(0) U—10(0)
AAREG
RIGHE |(FED (F1&) E #|(FED (F#) = #
1 09:00~ vs vs
2 10:00~ Vs Vs
3 11:00~ vs vs
4 12:00~ vs vs
5 13:00~ vs vs
6 14:00~ vs vs
7 15:00~ vs vs
8 16:00~ Vs vs
KILUR)—vFE 15 a . RE AF%F—LTHBEO L. BAERTRLIORDHAEETET H. (10~155 X 1K)

5818H (H)
U—10(0) U—10(0)
AER5
RIHHE (D (F#&) E ¥ (D (F&) = #
1 09:00~ vs vs
2 10:00~ vs vs
3 11:00~ Vs Vs
4 12:00~ Vs vs
5 13:00~ vs vs
6 14:00~ vs vs
7 15:00~ VS vsS
8 16:00~ vs vs
KILUR)—vFE T35 A1 RE SZF—LTHBEOL . AERTRMORDHABETET 5. (10~1553 X 1K)




g% U—10 2025 B/ 2=F vz~ )~ IR~ 7 (DY)
58258 (8)
U—10(F) Uu—10(0O)
HERIG ZEEREI VR (B)
RBLE (FaD FNE FH LD I (€S- 1)) (F#) = ¥
1 .09:00~ [ ALK vs FNE =ED vs
2 10:00~ vs vs
3 11:00~ | f&£2 Vs FN@E | ABEE vs
4 12:00~ vs vs
5 13:00~ | f=&£2 vs HEBHE | FNE vs
6 14:00~ vs vs
7 15:00~ vs vs
8 16:00~ vs vs
KILUR)—TuFEITHo5EE &, [RE| AR F—LTHBEOL. HERTEIORDHAEETET S, (10~155 X 1K)
58258 (H)
Uu—10(0O) Uu—10(0O)
HERIS
RIBUE (58D (F#) g ¥ (D (F#) = ¥
1 09:00~ vs vs
2 10:00~ vs vs
3 11:00~ vs vs
4 12:00~ vs vs
5 13:00~ vs vs
6 14:00~ vs vs
7 15:00~ vs vs
8 16:00~ vs vs
KILUR)—TvFEITH>5HE &, [RE Az F—LTHBEO L. RERTEIORDHAEETET S, (10~157 X 1K)
58258 (8)
Uu—10(0O) Uu—10(0O)
HERIS
e S (G an)) (F#) B ¥ |(FED (F#) = ¥
1 09:00~ vs vs
2 10:00~ vs vs
3 11:00~ vs vs
4 12:00~ vs vs
5 13:00~ vs vs
6 14:00~ vs vs
7 15:00~ vs vs
8 16:00~ vs vs

KILUR)—vFE T35 A1 RE SZF—LTHBEOL . AERTRMORDHABETET 5. (10~1553 X 1K)




BiEx U—10 2026 &)IIR2 =Pty —)— T GIRitE ) — O (PEaERIX)
68228 (8)
U—10(E) U—10(F)
HERIG TH#INTSUE(C) ZEERBI SR (B)
RHYUE ((FaD ER FR a—<IUN BT H O ((FED ANIMO () ABHK | F ¥
1 09:00~ AR vs #&m f&; ANIMO vs gLl L]
2 10:00~ | HALE vs L &M NSP vs FNAE BRIl
3 11:00~ | /SXTFIL Vs a—33y AR P vs gl NSP
4 12:00~ | SUNRISE vs o] Btk | ANIMO vs NSP R
5 13:00~ &I vs MR |3—<3UH  RH vs HEWE
6 14:00~ | FALLR vs /XRT )L | SUNRISE vs
7 15:00~ |3—< 5k vs SUNRISE| /82T vs
8 16:00~ vs vs
KILUR)—TuFEITHo5EE &, [RE| AR F—LTHBEOL. HERTEIORDHAEETET S, (10~155 X 1K)
68228 (H)
Uu—10(0O) Uu—10(0O)
HERIS
RIBUE (58D (F#) S (€ 1)) (F#) = ¥
1 09:00~ vs vs
2 10:00~ vs vs
3 11:00~ vs vs
4 12:00~ vs vs
5 13:00~ vs vs
6 14:00~ vs vs
7 15:00~ vs vs
8 16:00~ vs vs
KILUR)—TvFEITH>5HE &, [RE Az F—LTHBEO L. RERTEIORDHAEETET S, (10~157 X 1K)
68228 (8)
Uu—10(0O) Uu—10(0O)
HERIS
e S (G an)) (F#) B ¥ |(FED (F#) = ¥
1 09:00~ vs vs
2 10:00~ vs vs
3 11:00~ vs vs
4 12:00~ vs vs
5 13:00~ vs vs
6 14:00~ vs vs
7 15:00~ vs vs
8 16:00~ vs vs

KILUR)—vFE T35 A1 RE SZF—LTHBEOL . AERTRMORDHABETET 5. (10~1553 X 1K)




BiEx U—10 2025 B/IIRZ 2= F w1/~ GIEIE — O (PREX)
68298 (R)

U—10(0) Uu—10(0)
AER5
RIBYUE (D (F#) E ¥ (D (F&) = #
1 09:00~ vs vs
2 10:00~ vs vs
3 11:00~ vs vs
4 12:00~ vs vs
5 13:00~ vs vs
6 14:00~ vs ys
7 15:00~ vs vs
8 16:00~ vs vs
KILUR—ZoF &M EHAa L RE| A% F—LTHEBEO L. AR TERIALRDHASETET S, (10~1553 X 1K)

6H298 (H)
U—10(0) U—10(0)
AAREG
RIGHE |(FED (F1&) E #|(FED (F#) = #
1 09:00~ vs vs
2 10:00~ Vs Vs
3 11:00~ vs vs
4 12:00~ vs vs
5 13:00~ vs vs
6 14:00~ vs vs
7 15:00~ vs vs
8 16:00~ Vs vs
KILUR)—vFE 15 a . RE AF%F—LTHBEO L. BAERTRLIORDHAEETET H. (10~155 X 1K)

68298 (H)
U—10(0) U—10(0)
AER5
RIHHE (D (F#&) E ¥ (D (F&) = #
1 09:00~ vs vs
2 10:00~ vs vs
3 11:00~ Vs Vs
4 12:00~ Vs vs
5 13:00~ vs vs
6 14:00~ vs vs
7 15:00~ VS vsS
8 16:00~ vs vs
KILUR)—vFE T35 A1 RE SZF—LTHBEOL . AERTRMORDHABETET 5. (10~1553 X 1K)




